Bullets Puzzles: Paper-and-Pencil Minesweeper

Todd Neller and Hien Tran
January 29, 2022

Deduce the locations of exactly 15 bullets in each grid, with numbers indicating how many bullets are adjacent.

Puzzle 1: Puzzle 2: Puzzle 3: Puzzle 4: Puzzle 5:
212 11 112 1 2 3|1
1 1 4 1 2 2 2 3121313 515 314 21312
312 4 3 3 2 4 2
1 3 2 3 2 414 3 1 3
312 5 4 1 213 21312 1 2 312 1
3131414 3 1 2 3 2 1 314
5 2 0 1 3
Puzzle 6: Puzzle 7 Puzzle 8 Puzzle 9 Puzzle 10
111 3 21212 1 2 1 1 1 211
512 2 4 2 1 314 2 21114 41213 1
214 3 3 3 1 3 5 3
2 4 3 2 311 2134 212 3
1 3 2 2(3 4 2 2 2 1 4
3 2122 2 1 2 3 2 23 4 3 34
212 1 3 1(1 1 1 1 1(2
Puzzle 11 Puzzle 12 Puzzle 13 Puzzle 14 Puzzle 15
11213 0 1 1 112 2 111]1 1 1
11314 3 2 312 2 4 1 4 2
41313 2 1 2 313 314 2 11 4
3 3131]3 2 3 213 4
1 413 1 2|1 2 1 1 4 3 4 4
3 1 3 414 3 43 21315 1 3 3
2 3 2 1 2 3 2 3 2 1
Puzzle 16 Puzzle 17 Puzzle 18 Puzzle 19 Puzzle 20
11 2 11 2 1 1(2 3|1
3 2 3 5 0 2 2 313 2 2
2 2(1 3 21311 2 31314 6
1121213 6 3 1 1(3[4 2 213 5 313
3 3 1 2 3 312 3
112 1 41414 2 2 2 313]2
1 3 2 1 1 1 2 2
Puzzle 21 Puzzle 22 Puzzle 23 Puzzle 24 Puzzle 25
3 3 1(3 0 0 1 112 2
41513131 42 4 1(3 212 3 2 1
1 3 2 2 2 1 313 1 21214 3 1
3 3 312 2 2 2 2 3[13[1]2
2 4 3 2 3 1(2 2 2 2 314 3
2 2 2 4 5 1 3132 41 4133
1 2 1{2 3 2 1
Puzzle 26 Puzzle 27 Puzzle 28 Puzzle 29 Puzzle 30
113 111 0 111]2 1 1 212 1 1
212 1 3 313 3 2123 3
2|1 2 3 21213 1 1{3]2 3 1
31313 2 3 5 312 2 2 2 4
2 3 21113 6 2 3 2 4 2
212 1 2133 3 3|4 1 21312
01 3 1 2 3 312 3 211 2
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Solution 3: Solution 4: Solution 5:
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